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Answer Q. No. 1 which is compulsory and any
five out of rest seven questions

The ﬁgures in the right-hand margin indicate marks

1. Answer the following : : 2x10

(a) What is the tension in the string BC shown
in Fig. 1(a) ?
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(3)

(g) Findthe M.I of the figure shown about the

axis 17 to the plane and passing through the
C.G

(h) State and explain law of conservation of

s
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momentum. Is it different for linear and
angular momentum ?

A projectile is fired on a level ground with
initial muzzle velocity V. Fora fixed value
of range R, determine the two possible angles
of projection.

What do you mean by potential energy ? Give
four examples.

Two identical rollers, each of mass 45 kg,
are supported by an inclined plane and a
vertical wall. The inclined plane makes an
angle 30° with the horizontal. Assuming all
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(9 )

" Neglect friog: # . ’ it
i b) A ballis thrown against 2 rigid heavy floor
at an angle of 60° with a speed at jmpact of
17 m/s. What is the angle of rebound, if
coefficient of restitution is 0477 5

(a) Aboy wishes to throw aballovera flat roofed
school house building that stands 12 m wide
%;\d 7-5 high on level ground. Determine how ‘

(¥ar from the wall he should take his stand

| A o in order to make the ball clear the roof with

'  the 1east effort, i.e., with the minimum

ol ;nitial velocity- :

F b) A ﬂy‘wheel having moment of inertia

A stone ; ‘8 5(5) ﬂ =170 kg-m? with respect 10 its axis of:

Vertica]e is droppeg : {\rotation and making 100 r.p.m, left alone,

iy Iy witp b into 4 y, '}Z \ comes 1o rest with constant angular

ot ty on} . Th DStant ac,, ell ang fall W] deceleration in 52 seconds, owing 10

the botto, €sound of; €leratjop, bl /\"p friction in the bearings. Determine the

’OCOHd aft Fitg'] of wz;factof thCSt:: : é\] friction couple that produces this
und js 33 I8 drop is ho ne deceleration.

ell 9 6 : ped. | I ard 6.5

What js the d: Clocity of 8. (@ A project'le is fired at an angle of 60° from

Set-2) Pth of the the origs'm to ahill described by the equation

Sy=10 2. The muzzle velocity is 1000 ns.

o > ’\‘x‘ At what clevation ‘Y’ does it strike the hill ?

Onlinye, 4 ) it /
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(10)

(b) A coil spring of stiffness 800 N/m is
stretched by 120 mm from the unstretched
position. What is the energy stored in the

\& spring ? What is the workdone by another

stretchifig of 120 mm ? Are they same ? If

not, why ? 5
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